X SSOCIATED
PLUMBERS

itz 501-666-9483

MANSFIELD*

Push Button Assembly

162730
1.52” O.D.
OEM: 7000-091-001

AMERICAN STANDARD* “ )
‘ Check Stop Unit Flush Valve Gasket
a 402031 AB32150-GASKET
OEM: DA603923 For Style 210

3-1/8”0.D., 2-3/16” I.D.

EMCO*

MISC

Tank to Bowl Gasket

AB43216-KITC
W/ Rec Hex & Deluxe Tank to Bowl
Kit, w/ 2 Solid Brass Bolts & Coupling
OEM: 47158-0070A

3-15

ARROWHEAD BRASS* Corona Metal Handle Pair
EM33421
1-7/8” High
Plug for Wall Hydrant . ) )
166380 200 Piece O-Ring Kit
To replace PK1440 178470

12 Sizes

¢ XSSOCIATED
$ S

To order, Email sales@associatedplumbers.com -text /call 501-666-9483-associatedplumbers.com/part-help

*0riginal Mfg's names are used for identification only and are not a representation that the item offered are genuine items of the original mfg.



ASSOCIATED
PLUMBERS

P32 50]—666—9483

MP6367

MISC MISC MISC

i

A e

Closet 1/4” Bolt

Closet 1/4” Bolt 171630
169840 With Stand Up Washer
With Holding Nut
MISC
MISC

L

LR

Flush Valve

AB32390-A s
W/ Adjustable Flapper i
Closet 1/4” Bolt
Closet 1/4” Bolt With Stand Ulz\}z}?o d Bolt C
171330 1 an |y I(alSt €r an (¢) ap

With Holding Nut and Bolt Cap Kit

E = s E

To order, Email sales@associatedplumbers.com -text /call 501-666-3483-associatedplumbers.com/part-help

*0riginal Mfg's names are used for identification only and are not a representation that the item offered are genuine items of the original mfg.
2



ASSOCIATED
PLUMBERS

o7 501-666-9483
MISC MISC

RRRNEE T TR
RN RE AR ERE

Closet 1/4” Bolt

166410 Closet 1/4” Bolt Set
With Hex Nut and Stand Up Washer AB37004
Solid =
Closet 5/16” Bolt
MISC 170370
R MISC With Holding Nut
MISC

S

Closet 1/4” Bolt Set

AB37044
Break Off
Closet 1/4” Bolt o
166900
With Hex Nut, Stand Up Washer, and
Bolt Cat Kit Closet 5/16” Bolt

172380
With Holding Nut and Bolt Cap Kit

To order, Email sales(@associatedplumbers.com -text /call 501-666-9483-associatedplum bers.com/part-help

*Qriginal Mfg's names are used for identification only and are not a representation that the item offered are genuine items of the original mfg.
3



Closet 5/16” Bolt

172190
With Stand Up Washer

MISC

Closet 5/16” Bolt

174640
With Stand Up Washer and Bolt Cap
Kit

(

SSOCIATED
PLUMBERS

it 501-666-9483

MISC

. . Closet 5/16” Bolt Set
173640 Solid
With Hex Nut and Stand Up Washer
MISC
MISC
Toilet Bolt Cap Pair
AB37347
Closet 5/16” Bolt MISC
175250 .
With Hex Nut, Stand Up Washer, and Smgle Only
Bolt Cat Kit NOt a Palr
L
Toilet Bolt Cap
ot ) AB37356

To order, Email sales(@associatedplumbers.com -text /call 501-666-9483-associatedplumbers.com/part-help

4

*Qriginal Mfg s names are used for identification only and are not a represent ation that the item offered are genuine items of the original mfg.



XSSOCIATED
PLUMBERS

W7 501-666-9483

MISC NEWPORT BRASS*
R 3557

Toilet Base Cover Plate
AB37448

MISC
= Ceramic Cartridge
CC19150

8
N ‘ }

' ool Universal Aerator Key ,

2.44

\ AK13 OEM: 1-259
Fits 13 Sizes

Toilet Seat Bolts
AB57130 PERLICK*

11mm, Plastic

MISC

t.
LAg

Canopy Lever Lavatory
\ Handle Pair
' SE32411
Toilet Seat Bolts 1-3/8” High
AB57160 Fit-All w/ Sears 3-10 Adapters

9mm, Plastic

To order, Email sales(@associatedplumbers.com -text /call 501-666-9483-associatedplum bers.com/part-help
nal Mfg.

5

*0riginal Mfg's names are used for identification only and are not a representation that the item offered are genuine items of the original mfy.



\ SCIATED

N

PLUMBERS

e 501-666-9483

UNKNOWN UNKNOWN VERNET*

Ceramic Unit

Cam Style Diverter Stem LF464881
231960 LF§66§§82

3.10”

Thermostatic Cartridge

488080-RES
417"

To order, Email sales@associatedplumbers.com -text /call 501-666-9483-associatedplumbers.com/part-help

*Original Mfg s names are used for identification only and are not a represent ation that the item offered are genuine items of the original mfg. ffg.
6



